MULTIPLE PUMP XV-2

@ 82,5

| Dauner Antriebstechnik GmbH |

XV-2

nﬂ"""

A C
A1 C1
r 111
< | o@o B H cco
- o o h H©o O
=
V) 1 1 1
LS
106,38 T T
130,4 X2T X2F-2
A B C
A1 B1 C1
T T T
=
1 u@c I . c@o r . c@o 0
o o h H o o| h H o o »
T
T T 1 T = i T
X2T X2|-2 X2F-2
29
A C A C
A1l C1 A1l
I 1
= - 1 ~
| | OcO r 1 OcO | | @
o o h { o o | »
1
= I =
1 0 A
* *
* = SPECIAL ELEMENT, please contact our customer service for details.
TYPE Displacem. A Al B B1 C C1 P1 P3 Min speed Max speed
cclrev mm mm mm mm mm mm bar bar rpm rpm
XV-2/4 4,20 84,2 394 834 41,7 87,2 41,7 260 300 700 4000
XV-2 /6 6,00 87,2 39,4 86,4 43,2 90,2 43,2 260 300 700 3500
XV-2/9 8,40 91,2 41,4 90,4 45,2 94,2 45,2 260 300 700 3500
XV-2/11 10,80 95,2 45,8 94,4 47,2 98,2 47,2 260 300 700 3500
XV-2/14 14,40 101,2 45,8 1004 50,2 104,2 50,2 250 290 700 3500
XV-2 /17 16,80 105,2 45,8 104,4 52,2 108,2 52,2 230 270 700 3500
XV-2/19 19,20 109,2 45,8 108,4 54,2 112,2 54,2 210 250 700 3000
XV-2 /22 22,80 115,2 53,3 114,4 57,2 118,2 57,2 200 240 700 3000
XV-2 /26 26,20 119,2 53,3 118,4 59,2 122,2 59,2 170 210 700 3000
XV-2 /30 30,00 1272 615 126.4 63,2 130,2 63,2 160 200 700 2500
XV-2 /34 34,20 134,2 61,5 133,4 66,7 137,2 66,7 150 190 700 2500
XV-2 /40 39,60 143,2 61,5 142,4 71,2 146,2 71,2 140 180 700 2000

024-150

@ Dauner Antriebstechnik GmbH — Industriestrale 3 — 96120 Bischberg—Trosdorf
= Tel.: 09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



| Dauner Antriebstechnik GmbH

MULTIPLE PUMP XV-2 | ’— | l XV-2
oes-Fance A

@ 82,5
A D
A1 D1
r '—:
< | O@O B
- o o -
Y | |
‘—_.
106,38 T
1304 X2T X1F-2
A B D A E
Al B1 D1 Al E1
-~
| | c I T O@D I (')c I
H 0 ©O = o =
1 1
=
T L - T 1]
X2T X21-2 X1F-2 X2T X1I-2 X1I-1 X1F-1
SEPARATED STAGES
21
A G
A1 G1
I
| | o@o »
o o -
1
=
* *
* = SPECIAL ELEMENT, please contact our customer service for details.
TYPE Displacem. A Al B B1 C C1 P1 P3 Min speed Max speed
cclrev mm mm mm mm mm mm bar bar rpm rpm
XV-2/4 4,20 84,2 39,4 83,4 41,7 87,2 41,7 260 300 700 4000
XV-216 6,00 87,2 39,4 86,4 432 90,2 432 260 300 700 3500
XV-2/9 8,40 91,2 41,4 90,4 45,2 94,2 45,2 260 300 700 3500
XV-2 /11 10,80 95,2 458 94,4 472 98,2 472 260 300 700 3500
XV-2 /14 14,40 101,2 45,8 100,4 50,2 104,2 50,2 250 290 700 3500
XV-2 /17 16,80 105,2 45,8 104,4 52,2 108,2 52,2 230 270 700 3500
XV-2/19 19,20 109,2 458 108.4 54,2 112,2 54,2 210 250 700 3000
XV-2 /22 22,80 115,2 53,3 114,4 57,2 118,2 57,2 200 240 700 3000
XV-2 /26 26,20 119,2 53,3 118,4 59,2 122,2 59,2 170 210 700 3000
XV-2 /30 30,00 1272 615 126,4 63,2 130,2 63,2 160 200 700 2500
XV-2 | 34 34,20 134,2 615 1334 66,7 137,2 66,7 150 190 700 2500
XV-2 /40 39,60 143,2 61,5 142,4 71,2 146,2 71,2 140 180 700 2000
m Dauner Antriebstechnik GmbH — Industriestrae 3 — 96120 Bischberg—Trosdorf 024-150
= Tel.: 09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



MULTIPLE PUMP XV-2
2 82,5 - FLANGE |

| Dauner Antriebstechnik GmbH

P L e

A H A | L M
A1 H1 A1 11
I I
| o@o ¥ | oco I
o o h o o L
4
1 1
= T H—] 1= T H—]
X2T XOF-2 X2T X0I-2  XOI-0 XOF-0
A E N A E (@] L M
A1 E1 N1 A1 E1 o1 L1 M1
i i
| o@c X 1 ccc X
o o h o o L
1 — 1 —
= - = -
X2T X11-2 XOF-1 X2T X1I-2 X0I-1 XO0I-0 XOF-0
A B E F o L M
A1 B1 E1 F1 o1
I 1
1 OOO B H c¢> B
o o h |1 o o L
|
T L] T T 1= I
X2T X2I-2 X1I-2 X1I-1 X0I-1 XO0I-0 XOF-0
TYPE Displacem. D D1 E El F F1 G Gl P1 P3 Min speed Max speed
cclrev mm mm mm mm mm mm mm mm bar bar rpm rpm
XV-1/0,9 0,91 81,5 40,8 78 40,8 74,5 37,3 78 37,3 240 280 700 6000
XV-1/1,2 1,17 82,5 41,3 79 41,3 75,5 37,8 79 37,8 250 290 700 6000
XV-1/1,7 1,56 84 42 80,5 42 77 38,5 80,5 385 250 290 700 6000
XV-1/2,2 2,08 86 43 82,5 43 79 39,5 82,5 39,5 250 290 700 6000
XV-1/2,6 2,60 88 44 84,5 44 81 40,5 84,5 40,5 250 300 700 6000
XV-1/3,2 3,12 90 45 86 45 83 41,5 86 415 250 300 700 6000
XV-1/3,8 3,64 92 46 88,5 46 85 42,5 88,5 42,5 250 300 700 6000
XV-1/4,3 4,26 94 47 90,5 47 87 43,5 90,5 43,5 250 300 700 6000
XV-1/4,9 4,94 97 48,5 93,5 48,5 90 45 93,5 45 250 300 700 6000
XV-1/5,9 5,85 100,5 50,3 97 50,3 93,5 46,8 97 46,8 250 300 700 5000
XV-1/6,5 6,50 103 51,5 99,5 51,5 96 48 99,5 48 250 300 700 5000
XV-1/7.8 7,54 107 53,5 103,5 53,5 100 50 103,5 50 220 260 700 5000
XV-1/9,8 9,88 116 58 1125 58 109 54,5 1125 54,5 190 230 700 4000
TYPE Displacem. H H1 | 11 L L1 M M1 N N1 [¢] o1 P1 P3 Min speed Max speed
cclrev mm | mm | mm [ mm | mm [ mm [ mm | mm [ mm | mm | mm | mm bar bar rpm rpm
XV-0/0,17 0,16 758 | 46,2 | 723 | 46,2 | 523 | 26,2 | 558 | 26,2 | 758 | 46,2 | 72,3 | 46,2 | 220 | 260 700 9000
XV-0/0,25 0,24 76,4 | 4655 [ 729 | 4655 [ 529 | 26,5 | 56,4 | 265 | 76,4 | 4655 | 729 | 465 220 260 700 9000
XV-0/0,45 0,45 78 473 | 745 | 473 | 545 | 273 58 27,3 78 473 | 745 | 473 220 280 700 9000
XV-0/0,57 0,56 79 478 | 755 | 478 | 555 | 27,8 59 27,8 79 47,8 | 75,5 | 478 220 280 700 9000
XV-0/0,76 0,75 80,5 | 485 77 48,5 57 285 | 60,5 [ 285 | 80,5 | 485 77 48,5 | 220 | 280 700 9000
XV-0/0,98 0,92 82 49,3 | 785 | 49,3 | 585 [ 29,3 62 29,3 82 49,3 | 78,5 [ 49,3 220 280 700 6000
XV-0/1,27 1,26 84,5 | 50,5 81 50,5 61 30,5 | 645 | 30,5 [ 845 | 50,5 81 50,5 220 280 700 6000
XV-0/1,52 1,48 865 [ 515 83 51,5 63 315 | 66,5 | 315 | 865 | 51,5 83 51,5 | 220 | 280 700 6000
XV-0/2,30 2,28 92,5 | 54,5 89 54,5 69 345 | 725 | 345 [ 925 | 54,5 89 54,5 220 210 700 5000
— Industriestraie 3 — 96120 Bischberg—Trosdorf 024-150

@ Dauner Antriebstechnik GmbH
= Tel.: -0 — Fax:

09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



MULTIPLE PUMP XV-2

| Dauner Antriebstechnik GmbH

M STANDARD FLANGE SHAFT
. LEFT RIGHT cIPo1 CIP02
'E RIS 1 ! ‘
=] Al e | T 4
51 52 =N CER- -
S SHAPED sl 0 | 80 ioflmgd
COP02
& -, 1 EE
54 oo 31
T SEPARATED STAGES iad rosd |
T ’\gﬁ
— WITHOUT OR | WITHOUT OR SCPO4
o A
- | g
A SINGLE INLET g
X
e
A
52 | Q A 51 51
NUMBER OF BODY
ELEMENTS
0O L2 /
cl o O o DISPLACEMENT
41 | XV-2P/4
o 43 | xv-2p/6
v 45 | XV-2P/9
o o 47 | Xv2p/11
Q Q 49 | Xv-2P/14
o O 51 | Xv-2P/17
R 5 53 | Xv-2P/19
55 | XV-2P/22
Q 57 | XV-2P/26
G 59 | XV-2P/30
61 | XV-2P/34
BSP 63 | XV-2P/40
O ’
M
METRIC
o
8
o
L O | | ~
UNF E?(TERNAL DRAIN

fmaT]

Dauner Antriebstechnik GmbH — Industriestra3e 3 — 96120 Bischberg—Trosdorf
Tel.: 09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

DISPLACEMENT

XV-0P/0.17
XV-0P/0.25
XV-0P/0.45
XV-0P/0.57
XV-0P/0.76
XV-0P/0.98
XV-0P/1.27
XV-0P/1.52
XV-0P/2.30
XV-1P/0.9
XV-1P/1.2
XV-1P/1.7
XV-1P/2.2
XV-1P/2.6
XV-1P/3.2
XV-1P/3.8
XV-1P/4.3
XV-1P/4.9
XV-1P/5.9
XV-1P/6.5
XV-1P/7.8
XV-1P/9.8

024-150

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



| Dauner Antriebstechnik GmbH

/// —l l J"
MULTIPLE PUMPS — SINGLE ELEMENTS ; ,

| “ /‘ fA
o=

DISPLACEMENT, PRESSURES AND SPEED

Type Displacement Max Pressure Min speed Max Speed

XV-0P/0.17 0.16 cm®/giro 260 bar 700 giri/min 9000 giri/min

XV-0P/0.25 0.24 cm®(giro 260 bar 700 giri/min 9000 giri/min

XV-0P/0.45 0.45 cm®/giro 280 bar 700 giri/min 9000 giri/min

% XV-0P/0.57 0.56 cm®/giro 280 bar 700 giri/min 9000 giri/min

>' XV-0P/0.76 0.75 cm®(giro 280 bar 700 giri/min 9000 giri/min

X XV-0P/0.98 0.92 cm®/giro 280 bar 700 giri/min 6000 giri/min

XV-0P/1.27 1.26 cm®/giro 280 bar 700 giri/min 6000 giri/min

XV-0P/1.52 1.48 cm3/giro 280 bar 700 giri/min 6000 giri/min

XV-0P/2.30 2.28 cm’/giro 210 bar 700 giri/min 5000 giri/min

XV-1P/0.9 0.91 cm®/giro 280 bar 700 giri/min 6000 giri/min

XV-1P/1.2 1.17 cm3/giro 290 bar 700 giri/min 6000 giri/min

XV-1P/1.7 1.56 cm®/giro 290 bar 700 giri/min 6000 giri/min

XV-1P/2.2 2.08 cm®(giro 290 bar 700 giri/min 6000 giri/min

XV-1P/2.6 2.60 cm®/giro 300 bar 700 giri/min 6000 giri/min

& XV-1P/3.2 3.12 cm¥giro 300 bar 700 giri/min 6000 giri/min

>' XV-1P/3.8 3.64 cm®/giro 300 bar 700 giri/min 6000 giri/min

X XV-1P/4.3 4.16 cm’(giro 300 bar 700 giri/min 6000 giri/min

XV-1P/4.9 4.94 cm®[giro 300 bar 700 giri/min 6000 giri/min

XV-1P/5.9 5.85 cmS/giro 300 bar 700 giri/min 5000 giri/min

XV-1P/6.5 6.50 cm®/giro 300 bar 700 giri/min 5000 giri/min

XV-1P/7.8 7.54 cm®lgiro 260 bar 700 giri/min 5000 giri/min

XV-1P/9.8 9.88 cm/giro 230 bar 700 giri/min 4000 giri/min

XV-2P/4 4.2 cm®giro 300 bar 700 giri/min 3500 giri/min

XV-2P/6 6.0 cm’giro 300 bar 700 giri/min 3500 giri/min

XV-2P/9 8.4 cmgiro 300 bar 700 giri/min 3500 giri/min

XV-2P/11 10.8 cm®giro 300 bar 700 giri/min 3500 giri/min

o XV-2P/14 14.4 cm’(giro 290 bar 700 giri/min 3500 giri/min

(\Il XV-2P/17 16.8 cm®giro 270 bar 700 giri/min 3500 giri/min

> XV-2P/19 19.2 cm®giro 250 bar 700 giri/min 3000 giri/min
X

XV-2P/22 22.8 cm3/giro 240 bar 700 giri/min 3000 giri/min

XV-2P/26 26.2 cmslgiro 210 bar 700 giri/min 3000 giri/min

XV-2P/30 30.0 cm3/gir0 200 bar 700 giri/min 2500 giri/min

XV-2P/34 34.2 cm3/giro 190 bar 700 giri/min 2500 giri/min

XV-2P/40 39.6 cm3/giro 180 bar 700 giri/min 2000 giri/min

XV-3P/15 14.89 cmslgiro 320 bar 700 giri/min 3000 giri/min

XV-3P/18 17.37 cm3/giro 320 bar 700 giri/min 3000 giri/min

XV-3P/21 21.10 cm3/giro 300 bar 700 giri/min 3000 giri/min

XV-3P/27 26.97 cmalgiro 270 bar 700 giri/min 3000 giri/min

XV-3P/32 32.27 cm3/giro 270 bar 700 giri/min 3000 giri/min

XV-3P/38 38.47 cm3/giro 270 bar 700 giri/min 2800 giri/min

(95 XV-3P/43 43.44 cmalgiro 250 bar 700 giri/min 2800 giri/min

>' XV-3P/47 47.16 cm3/giro 250 bar 700 giri/min 2800 giri/min

x XV-3P/51 50.88 cm3/gir0 250 bar 700 giri/min 2800 giri/min

XV-3P/54 54.600m3/gir0 250 bar 700 giri/min 2300 giri/min

XV-3P/61 60.81 cm3/gir0 220 bar 700 giri/min 2300 giri/min

XV-3P/64 64.53 cm3/gir0 220 bar 700 giri/min 2300 giri/min

XV-3P/70 70.74 cm3/giro 210 bar 700 giri/min 2300 giri/min

XV-3P/74 74.46 cm3/giro 190 bar 700 giri/min 2300 giri/min

XV-3P/90 86.87 cmalgiro 160 bar 700 giri/min 2300 giri/min

m Dauner Antriebstechnik GmbH — IndustriestraRe 3 — 96120 Bischberg—Trosdorf 024-150
| Tel.: 09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



The recommended values are summarized in the following tables:

=

| Dauner Antriebstechnik GmbH |

MULTIPLE PUMPS - SIN ELEMENTS

i

TORQUES ALLOWED ON DRIVING PUMP SHAFT:

XV-0P

XV-1P

XV-2P

XV-3P

SHAFT [IDENTIFIER] - CODE - DESCRIPTION T Max [Nm]

[A] - CIOO01 - Parallel @ 7 - M 7x1 - key thk sp.2 21

[B] - CFOO01 - Milled shank @ 7 - sp. 5 9,2

[F] - CF0O05 - Milled shank g 7 - sp.4,5 L=9 8.4

[A] - CIOO01 - Parallel 12 - M10x1 - key thk. 3 25,8
[B] - CI002 - Parallel 12.7 - key thk. 3.2 (SAE) 32,8
[C] - CF001 - Milled shank @10 - thk.5 ("BH" Standard German) 13,8
[D] - CF002 - Milled shank @10 - thk.5 13,8
[E] - CF003 - Milled shank @11 - thk.6.63 (SAE) 25,8
[F] - CO001 - Tapered 1:8 - g10 - M7x1 - key thk.2.4 43.1
[G] - CO002 - Tapered 1:8 - 14 - M10x1 - key thk.3 119,8
[1]-CO004 - Tapered 1:8 - 812.7 - 5/16" 24UNF-2A - key thk.3.2 (SAE) 90,4
[J] - SCF04 - Splined ¢11.7 - z=6, H=17.5, m=1.6, DIN 5482 12x9 22,6
[K] - SCFO5 - Splined 912.344, z=9, H=19, SAE J498 9T 20/40DB 32,2
[L] - SCFO02 - Splined 211.9, z=15, H=17.5, m=0.75 42,8
[O] - CO002+HK - Tapered 1:8 - g14 - M10x1, HK 14-12, key thk.3 119,8
[P] - CI0O01+HK - Parallel 212 - M10x1 with bearing HK 14-12 - key thk.3 25,8
[Q] - SCFO1 - Splined 211.9, z=15, H=9, m=0.75 42,8
[R] - SCFO3 - Splined #11.9, z=15, H=9, m=0.75 428
[A] - CI0O01 - Parallel g15 - M6x1 - key thk.4 441
[B] - CI002 - Parallel 15.875 — 1/4"28-UNF key thk.4 (SAE A) 67.5
[C] - CF0O01 - Miled shank @15 - thk.8 ("BH" Standard German) 60.5
[E] - COO001 - Tapered 1:8 - 17,4 - M12x1,5 - key thk.4 233.2
[F] - CO002 - Tapered 1:5 - 17,4 - M12x1,5 - key thk.3 233.2
[G] - SCF02 - Splined g16,5 - z=9, H=13, m=1.6 DIN 5482 17x14 86.1
[H] - SCFO03 - Splined 216.5 - z=9, H=18,8, m=1,6 DIN 5482 17x14 86.1
[1]- SCF04 - Splined #15.456 z=9, H=22.5, SAE J498 9T 16/32DP 67.1
[K] - SCFOS5 - Splined 16.5 z=9 H=8,1 m=1.6 DIN 5482 17x14 86.2
[L] - SCFO1- Splined 916.5 z=9 H=9,2 m=1.6 DIN 5482 17x14 86.2
[M] - CO001 - Tapered 1:8 - 17,4 - M12x1,5 - key thk.3,2 233.2
[A] - CO001 - Tapered 1:8 - 822 — M14x1.5 - key thk.4 482

[B] - CI001 - Parallel 220 - M8 - key thk.5 181

[C] - SCFO03 - Splined @21.5, z=13, H=25, m=1,6 223

[H] - Cl004 - Parallel g22.225— 1/4"28-UNF key thk.6.35 (SAE B) 180

[1]- SCFO04 - Splined 221.8059, z=13, H=25, SAE J498 9T 16/32DP 264

Dauner Antriebstechnik GmbH — Industriestra3e 3 — 96120 Bischberg—Trosdorf
Tel.: 09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

024-150

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



| Dauner Antriebstechnik GmbH I

MULTIPLE PUMPS — SIN

TORQUES ALLOWED ON FINAL AND INTERMEDIATE PUMP SHAFT:

Composition Intermediate Pump Couple Final Pump Couple

OP + 0P

1P + 0P
2P + 0P
3P + 0P

1P + 1P
2P + 1P
3P + 1P

2P + 2P
3P + 3P

3P +3P

@ Dauner Antriebstechnik GmbH — IndustriestraRe 3 — 96120 Bischberg—Trosdorf 024-150
= Tel.: 09503/50008-0 — Fax: 09503/50008-49 — Email: info@dauner-antriebstechnik.de — www.dauner-antriebstechnik.de

Die Inhalte unserer Seiten wurden mit grof3ter Sorgfalt erstellt. Fir die Richtigkeit, Vollstandigkeit und Aktualitat der Inhalte kénnen wir jedoch keine Gewahr tbernehmen.



